Kansas Corporation Commission OIL & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33235	API No. 15 - 007-22991-00-00
Name: Chieftain Oil Co. Inc.	County: Barber
Address: P.O. Box 124	NW_SE_NE_SW_Sec28 Twp32 S. R10 East V West
City/State/Zip: Kiowa, KS 67070	1925 feet from (9 / N (circle one) Line of Section
Purchaser: West Wichita Gas	2060 feet from E / (circle one) Line of Section
Operator Contact Person: Ron Molz	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>620</u>) <u>825-4030</u>	(circle one) NE SE NW SW
Contractor: Name: D & B Drg. LLC	Lease Name: Mary Well #: 2
License: 33789	Field Name: Traffas
Wellsite Geologist: Arden Ratzlaff	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1454 Kelly Bushing: 1462
✓ New Well Re-Entry Workover	Total Depth: 4880 Plug Back Total Depth: 4820
✓ OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 348 Feet
Gas SIGW Temp. Abd.	
Dry Other (Core, WSW, Expl., Cathodic, etc)	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth setFeet
Operator:	If Alternate II completion, cement circulated from
Well Name:	feet depth tow/sx cmt.
Original Comp. Date:Original Total Depth:	Drilling Fluid Management Plan Alt + 1.1 fm
	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) 3-12-07
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 10000 ppm Fluid volume 1500 bbls
Plug Back Total Depth	Dewatering method used haul off
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No.	Operator Name: Molz Oil Co. Inc.
8-18-2006 8-28-2006 9-14-2006	Lease Name: Garner License No.: 6006
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter_NE Sec11 Twp33 S. R10 East 🗸 West
Recompletion Date Recompletion Date	County: Barber Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. All requirements of the statutes, rules and regulations promulgated to regula	and geologist well report shall be attached with this form. ALL CEMENTING
nerein are complete and correct to the best of my knowledge.	
Signature:	KCC Office Use ONLY
Title: Pas) DENO Date: 2-20-07	
	Letter of Confidentiality Received
Subscribed and sworn to before me this 20th day of February	If Denied, Yes Date:
20.07	Wireline Log Received
Notary Public: Cindy Mouris	Geologist Report Received RECEIVED
A NOTARY PUBLIC - State	e of Kansas FEB 2 3 2007
CINDY MOR	RIS
My Appt. Expires 11/2	KCC WICHITA

Operator Name: Chieftain Oil Co. Inc.			Lease Name: Mary			Well #: 2				
Sec. 28 Twp. 32 S. R. 10 East West			County: Barber						A CONTRACTOR OF THE PARTY OF TH	
INSTRUCTIONS: S tested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rate	ng and shut es if gas to	-in pressures, v surface test, a	whether s long with	shut-in pre	ssure reached	static level, hydro	ostatic pressur	es, botton	n hole
Drill Stem Tests Take		[/] Yo	es No		VL	og Format	ion (Top), Depth a	and Datum		Sample
(Attach Additional Sheets) Samples Sent to Geological Survey ✓ Yes No				Name Herbner			Top Datum 3481 -2019			
Cores Taken			Lansing			3670		2208		
Electric Log Run			Base Kansas City			4202		2740		
(Submit Copy)				Mississippi				4418 -2956		2956
List All E. Logs Run:					Viola			4721 -3259		3259
Gamma Ray Dual	Induction				Simpson Sand			4822 -3360		3360
Compensated Neutron Density Geologic				TD			4878	-3416		
		Repo	CASING	RECORD	-	toniana.	ction, etc.		4,1 864-1 4403-1	
Purpose of String	Size Hole		re Casing		eight	Setting	Type of Cement	# Sacks Used		and Percent dditives
Surface	10 3/4	Set (In O.D.) 8 5/8		Lbs. / Ft.		Depth 348	60/40 Poz	240	2% Sa	
Production	7 7/8	5 1/2	15			4873	Common	200	Gas Blo	ock 2% Salt
·			ADDITIONAL	CEMENT	TING / SQL	JEEZE RECOR	D		ad henra or -no ne d deserva e	
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement		#Sack	ks Used	Type and Percent Additives				
Shots Per Foot			RD - Bridge Plug Each Interval Per		e		acture, Shot, Cemer Amount and Kind of M		ord	Depth
4 4420-4423						1500 gal 15% Acid 4420-55				
4 4430-4434				,		1500 gal 15% Acid 442				4420-55
4 4443-4455				65000# Sand BBLL Gel 4420-				4420-55		
TUBING RECORD 2	Size 7/8	Set At 4550		Packer	At	Liner Run	Yes V No)		
Date of First, Resume	rd Production, SWD or	Enhr.	Producing Met	hod	Flowin	g 📝 Pump	oing Gas L	ift Oth	ner (Explain))
Estimated Production Per 24 Hours	0il 20	Bbls.	Gas 140	Mcf 2		Water Bbls. Gas-Oil Ratio Gravity				Gravity
Disposition of Gas	METHOD OF	COMPLETIO	DN			Production Inte	erval	RFC	Elver	1
Vented ✓ Sold			Open Hole	√ Pe	rf, 🔲 [Dually Comp.	Commingled	. 180A	EIVED 2 3 200	
(If vented, S	ubmit ACO-18.)		Other (Speci	ify)				FEB :	2 3 200)7

KCC WICHITA

ALLIED CEMENTING CO., INC.

Federal Tax I.D.# 48-0727860

4O P.O. BOX 31 RUSSELL, KANSAS 67665

wash fung + fines, + Release Diva Disi

TO out slow to 5 BAM 10 Youtslow-BAM 115 Bb/s out Bung pluy Float

ATES-29-06

CONTRACTOR

TYPE OF JOB **HOLE SIZE**

CASING SIZE

TUBING SIZE

DRILL PIPE

PRES. MAX

MEAS. LINE

DISPLACEMENT

PUMP TRUCK

BULK TRUCK #363

BULK TRUCK

STREET ____

CITY__

CEMENT LEFT IN CSG.

TOOL

PERFS.

OLD OR NEW (Circle one)

BOX 31	SERVICE POINT:	
SSELL, KANSAS 67665	-Ml	
	-/	
SEC. TWP. RANGE	CALLED OUT AM ON LOCATION JOB START OF OB FINISH	-
6 28 325 DW	CALLED OUT AM ON LOCATION JOB START POOR FINISH	4
WELL#2 LOCATION Short	, a QUNIT STATE	
WELL#2 LOCATION Shar	on, Ks. West-Side Barber Ks.	
circle one) 1 1/4 south	East into-	
7	Ω	
D+B	OWNER Chieftan Oil	
Droduction.		
778 T.D. 4880	CEMENT	
51/2 DEPTH 4873	AMOUNT ORDERED 500 Gals mudclean	
DEPTH	Waste Ole and GO Sals Mudclean	
	14 gals Clapro 50 sx 60:40:6 +-475	'n
DEPTH	2255x 1-1 +10/5alt 10/64/25 Kolsea 1-51. F/-160 &D	cc
DEPTH 1800	.7% ges block	•
MINIMUM 200	COMMON 30 A @ 10.65 319.50	
SHOE JOINT 44.52	POZMIX <u>20</u> @ 5.80 //6.00	
N CSG.	GEL <u>3</u> @ 16.65 49.95	
	Gasblock 148#@ 8.90 /317.20	
115 Bb/s 27 KCL		
EQUIPMENT	6	- 4
EQUITMENT	Vale 1 110 - 4	
	Dec	
CEMENTER Land Balding	Detokmer 31 @ 7.20 223.20	
HELPER Dennis Cushenbern	FL-160 106 @ 10.65 1128.90	2
Contra Conciner-	Mud Clean 500 gl. @ 1.00 500.00)
DRIVER Greg Grieves	Cla Pro 14 gl @25.00 350.00	
HIVER OTEG OFTEVES	Salt 24 @ 9.60 230.40	-
DDIVED	Sodium Metasilicate 17 #@ 1.95 33.15	
DRIVER	HANDING "	
REMARKS:	RECENTED	
1/ K = 1	TOTAL 9430.43	۷,
& CSq Drop Dall + circulate	FEB 2 3 2007	
tor I hour, Duny 20 Bbls	SERVICE SERVICE	
3 freshwater 500 Gals Mud	KCC WICHITA - CZ CS	
is fresh Rump 25 syspavenger		
Hole Down Esq Dump 25 x	DEPTH OF JOB " 48/5	_
ment +25 sxclass H+ Additi	PUMP TRUCK CHARGE 1750.00)
es + Delega No De TRAIN	SEXTRA FOOTAGE@	
nes, + Pelease plua Disa TBPM	MILEAGE // @ 6.00 66.00	,
05 BPM 10 Youtslow to 3	1 f () TTTO T TO	
out Burn play Float Did Hold	Head lental @100.00 100.00)
C 1 ~	Waiting Time 4 Hus. @ 200,00 800,00	
riet tan Dil		
	a	
	TOTAL 2716.00)
STATE ZIP	V ' was a man	
	5 /2 PLUG & FLOAT EQUIPMENT	
	FTRP @1500 1 = 00	
	1- Quide shoe @ 65.00 (65.00)	
	1-60ide shoe @ 160.00 160.00	
	@250,00 250,00	

@ 160.00 160.00 @250,00 250,00

2458

ALLIED CEMENTING CO., INC.

23948

HOLE SIZE

Federal Tax I.D.	# 48-0727860
MIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Medàin Lodga
MADE.	ON LOCATION JOB START JOB FINISH
M. JOCATION Shaw	COUNTY STATE
OLD OR NEW (Circle one)	East into
CONTRACTOR D+B Drilling	OWNER Chieftan Oil
TYPE OF IOR SURFACE	
HOLE SIZE WY T.D. 325'	CEMENT
CASING SIZE 848 DEPTH 351	AMOUNT ORDERED
TUBING SIZE DEPTH	240 sx 60:40:2+3/10
DRILL PIPE DEPTH	
TOOL DEPTH	1
PRES. MAX 250 MINIMUM	COMMON 144 A @ 10.65 1533.60
MEAS. LINE SHOE JOINT	POZMIX 96 @ 5.80 556.80
CEMENT LEFT IN CSG. 15'	GEL 4 @ 16.65 66.60
PERFS.	CHLORIDE <u>8</u> @ <u>46.60</u> <u>372.80</u>
DISPLACEMENT 21 4 Bbs Water	ASC@
EQUIPMENT	
EQUI MEM	
Poleti	
PUMP TRUCK CEMENTER Land Salching	
# 4/4-302, HELPER Dennis Cushenberg	
BULK TRUCK	
#389 DRIVER Greg Grieves	
BULK TRUCK	<u> </u>
# DRIVER	HANDLING 252 @ 1.90 478.80
	MILEAGE // X252 X.09 249.48
REMARKS:	TOTAL 3258.08
Run 351 848 CSq Break circulation	SERVICE
W Ria Mix 240 5x 60:40:2 +3/cs	
Release Nue to Risplace with 21 4ths	DEPTH OF JOB 35/
unter Leade 15 cement in Dise	PUMP TRUCK CHARGE <u>0 - 300' 8/5.00</u>
t. Shuting	EXTRA FOOTAGE <u>51'</u> @ .65 <u>33.15</u>
amost Diel Circulate	MILEAGE
Commence of the Commence of th	MANIFOLD@
	Head Rental @ 100.00 100.00
	RECEIVED @
CHARGE TO: Chief-tan Dil	EED 2 2 2007
CHARGE IO. Commission of the C	TOTAL 1014.15
STREET	KCC WICHITA
CITY STATEZIP	
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	1-TWP @60.00 60.00

@